Answer:

B2

to the beach yesterday.

She

Answer:

the rain last night.

They

Answer:

their umbrellas because it was sunny.

He

Answer:

his jacket because it was hot.

We

Answer:

in the snow this morning.

You

Answer:

ice on your car this morning.

The wind

Answer:

strongly all day.

My parents
Answer:

the storm last week.

The sun
Answer:

brightly this afternoon.

She

Answer:

her sunglasses because it was bright.




Answers

to the beach yesterday.

Answer: went

She the rain last night.

Answer: heard

They their umbrellas because it was sunny.
Answer: didn't take

He his jacket because it was hot.

Answer: didn't wear

We in the snow this morning.

Answer: played

You ice on your car this morning.

Answer: had

The wind strongly all day.

Answer: blew

My parents the storm last week.

Answer: survived

The sun brightly this afternoon.

Answer: shone

She her sunglasses because it was bright.
Answer: wore



